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Now we move backward to the choice node prior to the final choice node. At this choice 
node, the government has to decide whether to respond positively to the citizen or ignore 
her. If the government responds positively, then it receives a payoff of L. If the government 
ignores the citizen, then it can look down the game tree (follow the bold line) and see that 
the citizen will choose to exit at the final choice node and that its payoff will be 1. The deci-
sion whether to respond positively to the citizen or ignore her will obviously depend on 
whether L is larger or smaller than 1. For now, let us assume that L > 1. One way to interpret 
this is to say that the government is dependent on the citizen—the government values having 
the loyalty of the citizen more than the benefit that it took from her. Once we make this 
assumption, it becomes clear that the government will choose to respond positively. We 
indicate this choice by making the respond branch at this choice node bold. This is shown 
in Figure 3.4.

Solving the Exit, Voice, and Loyalty Game When the 
Citizen Has a Credible Exit Threat (E > 0) and the 
Government Is Dependent (L > 1): Step 2

Figure  3.4

Note: E = citizen’s exit payoff; 1 = value of benefit taken from the citizen by the government; L = government’s 
value from having a loyal citizen who does not exit; c = cost of using voice. It is assumed that c, L > 0; E < 1 – c;  
E > 0; L > 1.
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